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1)

Calculate the result by splitting the second number. Fill in the missing numbers.

Calculate the result by splitting the second number. Fill in the missing numbers.

Calculate the result by splitting the second number. Fill in the missing numbers.

a) 14 —T:
c) 66 — 8
e) 76 — &:
g) 41 —6
i) 58 — 9:
3)

a) 92 — O:
c) 37 — 8&:
e) b7 + 6:
g) 83 —T:
i) 86 + 5:
4)

Calculate the result by splitting the second number. Fill in the missing numbers.

75 12 80 g1
924 8 30 *2 39
34 10 40 T 41
35 12 40 13 43
64 =% 70 L 71

14 =410 =27
66 =% 60 —2 58
76 =% 70 =2 68
41 =% 40 =5 35
58 =5 50 =L 49

92 =2 90 =% 83
37 =% 30 =L 29
57 13 60 35 63
83 =2 80 =% 76
86 =% 90 1L 91

46 I 50 12 59
68 2 70 =2 75
38 12 40 15 46
77 35 80 X5 86
26 4 30 2 35
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b)9+6: 9151015 15
d) 57+ 7 57 60 = 64
Ha+7 4% 10 11
h) 7843 78 13 80 L 81
D8+T7 81510 15

b) 91 —7: 91 =5 90 =5 84
d) 55— 7 55 =2 50 —2 48
£) 52 —4: 52 =% 50 =2 48
W) 74— T T4 =% 70 = 67
D) T5—T 75 =% 70 =2 68

b)14—9: 14 =510 =25
d) 65 —T7: 65 —> 60 —% 58
£) 92 —6: 92 =2 90 —2 86
L) 88+ 6: 88 13 90 =% 04
) T3—6: 73 =270 =3 67

b) 76+ 6: 76 1% 80 12 82
d)33+8 335405 41
£) 3249 3215 40 1L 41
h) 7349 73 25 80 12 82
)67 +5: 67 1% 70 12 72
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Good Luck!
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